Gas Laws ¢ CHEM 210

1. A tire was filled with 32.0 psi pressure in Death valley where the temperature was 41.0°C. The driver then
drove to the Sierras where the temperature was —5.0 °C. What is the pressure in the tire in the Sierras,

assuming the volume of the tire is constant? . »
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2. What volume of liquid ethanol (C;HsOH in 100.0 L of O, gas at 50.0°C and 1.80 atm
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3. A sample of gas expands from 12.8 L at 34°C and 1.5 atm to 15.5 L while the pressure it 0 204.7
kPa. What is the new temperature? PV Py
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4. What is the density of C;H; gas at STP? ______(/sa Yar 3)
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5. A 5.00-L fixed volume flask is filled with 10.0-g of nitrogen gas at 22.0°C.
A) W hat is the pressure of nitrogen in the flask? N=m BT
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B) Aﬁer 2.00-g of helium is injected into the ﬂask \gﬁat are the Pyy, Phe, and Ptmal in the flask?
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mmol/min, what is its molar mass? ./ o )‘4 = =
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